
1 of 22 
 Contract 18-017-11 

Group A: Electrical Supplies 

ITEM # MM # DESCRIPTION 

1 100702 BLANK,STEEL,SNAP-IN,S50 APPLETON,1/2" 

2 100703 BLANK,STEEL,SNAP-IN,S75 APPLETON,3/4" 

3 100704 BLANK,STEEL,SNAP-IN,S100 APPLETON,1" 

4 100706 BLANK,STEEL,SNAP-IN,S150 APPLTN,1-1/2" 

5 100707 BLANK,STEEL,SNAP-IN,S200 APPLETON,2" 

6 100716 BODY,FEM.CONNECTOR,5369 HUBBELL,3 WIRE 

7 100764 BOX,UNTHREADED,HANDY,4X2-1/8IN.,1/2IN.KO 

8 100766 BOX,UNTHREADED,OUTLET,OCTAGON,4X1-1/2IN. 

9 100771 BOX,UNTHREADED,OUTLET,4X1-1/2IN.3/4IN.KO 

10 100772 BOX,UNTHREADED,OUTLET,APPLETON #4SJD-3/4 

11 100777 BOX,UNTHREADED,OUTLET,APPLETON #4SJD-1 

12 100778 BOX,UNTH,OUTLET,4"X1-1/2"X1/2-3/4"KO 

13 100780 BOX,UNTH,OUTLET,4"X 2-1/8"X 1/2-3/4"KO 

14 100781 BOX,UNTHREADED,OUTLET,APPLETON #4SJD-SPL 

15 100783 UNILET,TH,1/2 IN.C50-M,FORM 35,MALL IRON 

16 100784 UNILET,TH,1/2IN.FD-1-50,1-GANG DEEP,MALL 

17 100785 UNILET,TH,1/2IN.FDC-1-50,1-GANG DEEP,MAL 

18 100787 UNILET,TH,1/2IN.FS-1-50,1-GANG SHALLOW 

19 100790 UNILET,TH,1/2",FSC-1-50,1-GANG SHALLOW 

20 100792 UNILET,TH,1/2IN.LB-50-M,FORM 35,MALLIRON 

21 100794 UNILET,TH,1/2IN,LL-50-M,FORM 35,MALLIRON 

22 100795 UNILET,TH,1/2IN.LR-50-M,FORM 35,MALLIRON 

23 100796 UNILET,TH,1/2IN.T-50-M,FORM 35,MALL IRON 

24 100798 UNILET,TH,3/4IN.C-75-M,FORM 35,RD.BACK 

25 100801 UNILET,TH,3/4IN.FDC-1-75,1-GANG DEEP,M.I 

26 100802 UNILET,TH,3/4IN.FDC-2,GALV.FERALLOY IRON 

27 100806 UNILET,TH,OUTLET,3/4",1-GANG,#FDS-1-75 

28 100808 UNILET,TH,3/4",FS-1-75L,1-GANG,SHALLOW 

29 100809 UNILET,TH,3/4IN,FSC-2T-75,2-GANG,SHALLOW 

30 100813 UNILET,TH,3/4",FSC-1-75L,1-GANG,SHALLOW 

31 100814 UNILET,TH,3/4IN,FSCC-1-75,1-GANG,APPLTN 

32 100816 UNILET,TH,3/4IN,FSC-2-75,2-GANG,SHALLOW 

33 100817 UNILET,TH,3/4IN,FS-2T-75,2-G,SH,1-TANDEM 

34 100818 UNILET,TH,3/4IN,RD.BASE,JBX-75L,APPLETON 

35 100819 UNILET,TH,3/4IN,FSS-1-75,1-GANG,SH,M.I. 

36 100820 UNILET,TH,3/4IN,JBDX-75L,RD-BS,CAD,4TPHL 

37 100824 UNILET,TH,3/4",LB-75-M,FORM 35,M.I,CAD 

38 100827 UNILET,TH,3/4",M.I,LL75,APPLTN #9025L 

39 100828 UNILET,TH,3/4IN,LL-75-M,FORM 35,M.I,CAD. 

40 100830 UNILET,TH,3/4IN,LR-75-M,FORM 35,M.I,CAD. 



2 of 22 
 Contract 18-017-11 

Group A: Electrical Supplies 

ITEM # MM # DESCRIPTION 

41 100831 UNILET,TH,3/4",T-75-M,FORM 35,M.I,CAD 

42 100832 UNILET,TH,1 IN.,C100-M,APPLETON F-35 

43 100838 UNILET,TH,1IN,FSC-1-100,1-GANG,SHALLOW 

44 100842 UNILET,TH,1IN,LB100-M,APPLETON,FORM 35 

45 100843 UNILET,TH,1IN,LB-100M,APPLTN,FORM 35,M.I 

46 100845 UNILET,TH,1IN,LL-100-M,FORM 35,M.I,CAD. 

47 100848 UNILET,TH,1IN,T-100-M,FORM 35,M.I,CAD. 

48 100851 UNILET,TH,1-1/4IN,C-125-M,FORM 35,M.I. 

49 100852 UNILET,TH,1-1/4IN,LB-125M,FORM 35,M.I. 

50 100857 UNILET,TH,1-1/2IN,LB-150-M,FORM 35,M.I. 

51 100858 UNILET,TH,1-1/2IN,LL-150-M,FORM 35,M.I. 

52 100863 UNILET,TH,2",LB-200-M,FORM 35,M.I,CAD 

53 100876 COVER,OUTLET BX,APPLTN 180T,TGL-SWITCH 

54 100877 COVER,OUTLET BX,APPLTN 2510,DUPLEX RECEP 

55 100879 COVER,OUTLET BX,APPLTN 2540,BLNK1/4"DEEP 

56 100882 COVER,OUTLET,APPLTN 8361,1/2IN.RA,1-TGL 

57 100883 COVER,OUTLET,APPLTN 8363,1-SINGLE FLUSH 

58 100884 COVER,OUTLET,APPLTN 8365N,1-DUPLEX FLUSH 

59 100885 COVER,OUTLET,APPLTN 8367,1/2IN.RA,2-TGL 

60 100886 COVER,OUTLET,APPLTN 8371N,2 DUPLEX FLUSH 

61 100887 COVER,OUTLET,APPLTN 8375N,1-TGL&1-DUPLEX 

62 100888 COVER,OCTAGON OUTLET,APPLTN 8403,BLANK 

63 100889 COVER,OCTAGON,APPLTN 8413,1/2IN.CTR KO 

64 100893 COVER,OCTAGON OUTLET,APPLTN 8438R,SWIVEL 

65 100894 COVER,FLAT,1900 BLANK,4",APPLETON #8465 

66 100895 COVER,4-11/16"SQ,FLAT,BLANK,APPLTN 8487 

67 100900 COVER,UNILET,3/4"APPLTN 6020,BLANK STEEL 

68 100904 COVER,UNILET,APPLTN FSK-1B, BLANK,STEEL 

69 100905 COVER,UNILET,APPLTN FSK-1BC,BLANK,C.M.I. 

70 100906 COVER,UNILET,APPLTN FSK-1DR,1-GANG,STEEL 

71 100910 COVER,UNILET,APPLTN FSK-1TS,TOGGLE,STEEL 

72 100911 COVER,UNILET,APPLTN FSK-1TS-C,TGL,CAST 

73 100914 COVER,UNILET,APPLTN FSK-1VDR,DUPLEX,1-GA 

74 100915 COVER,UNILET,APPLTN FSK-1VR,W/SP.CV,1-GA 

75 100916 COVER,UNILET,APPLTN FSK-1VS,1-GANG,C.M.I 

76 100917 COVER,UNILET,APPLTN FSK-1VTS,1-GA,C.M.I. 

77 100918 COVER,UNILET,APPLTN FSK-2B,BLNK,2-GA,STL 

78 100919 COVER,UNILET,APPLTN FSK-2B-CM,BLNK,C.M.I 

79 100925 COVER,UNILET,BLANK,MALLEABLE IRON,RD-BS 

80 100926 COVER,UNILET,APPLTN JBK-75,RD-BS,C.M.I. 



3 of 22 
 Contract 18-017-11 

Group A: Electrical Supplies 

ITEM # MM # DESCRIPTION 

81 100927 COVER,UNILET,APPLTN K-50,BLANK,1/2",STL 

82 100928 COVER,UNILET,APPLTN K-75,BLANK,3/4",STL 

83 100930 COVER,UNILET,APPLTN K-100,BLANK,STEEL,1" 

84 100931 COVER,UNILET,APPLTN K-100-CM,1 IN. 

85 100932 COVER,UNILET,APPLTN K-125,1-1/4"BLNK,STL 

86 100933 COVER,APPLTN K-125-150,1-1/4" - 1-1/2" 

87 100935 COVER,UNILET,APPLTN K-200,2"BLANK,STEEL 

88 100938 BRACKET,UNISTRUT,SPLICE FITTING,1-5/8" 

89 100939 BRACKET,UNISTRUT,SPLICE FITTING,1-3/8" 

90 100943 CLAMP,PIPE,CONDUIT,1/2",APPLETON #CL-50M 

91 100944 CLAMP,PIPE,CONDUIT,1/2",POWERSTRUT 

92 100945 CLAMP,PIPE,CONDUIT,3/4",APPLETON #CL-75M 

93 100946 CLAMP,PIPE,CONDUIT,3/4",POWERSTRUT 

94 100947 CLAMP,PIPE,CONDUIT,1",APPLETON #CL-100M 

95 100948 CLAMP,PIPE,CONDUIT,1",UNISTRUT #P1113EG 

96 100949 CLAMP,PIPE,CONDUIT,1-1/4",#CL-125MN 

97 100950 CLAMP,PIPE,CONDUIT,1-1/4",#P1114EG 

98 100951 CLAMP,PIPE,CONDUIT,1-1/2",APPLE.#CL-150M 

99 100952 CLAMP,PIPE,CONDUIT,1-1/2",#P1115EG 

100 100953 CLAMP,PIPE,CONDUIT,2",APPLETON #CL-200M 

101 100954 CLAMP,PIPE,CONDUIT,2",POWERSTRUT #PS1100 

102 100957 CLAMP,PIPE,CONDUIT,3",UNISTRUT #P1119EG 

103 100960 CLAMP,PIPE,CONDUIT,4",UNISTRUT #P-1121 

104 100961 BACK,CLAMP,1/2"APPLTN CLB-50M,MI 

105 100962 BACK,CLAMP,3/4"APPLTN CLB-75M,MI 

106 100963 BACK,CLAMP,1"APPLTN CLB-100M,MI 

107 100964 BACK,CLAMP,1-1/4"APPLTN CLB-125M,MI 

108 100965 BACK,CLAMP,1-1/2"APPLTN CLB-150M,M.I. 

109 100975 BUSHING,1/2",FIBER,BLACK,APPLETON BBU50 

110 100978 BUSHING,3/4",FIBER,RED,APPLETON BBU75 

111 100981 BUSHING,1",FIBER,BLACK,APPLETON BBU100 

112 100984 BUSHING,1-1/4",FIBER,RED,APPLETON BBU125 

113 100986 BUSHING,1-1/2",FIBER,BLACK,APPLTN BBU150 

114 100988 BUSHING,2",FIBER,BLACK,APPLETON BBU200 

115 100992 BUSHING,3",FIBER,BLACK,APPLETON BBU300 

116 100995 BUSHING,REDUCER,3/4"X1/2"APPLTN RB75-50 

117 100996 BUSHING,REDUCER,1"X1/2"APPLTN RB100-50 

118 100997 BUSHING,REDUCER,1"X3/4"APPLETON#RB100-75 

119 100999 BUSHING,REDUCER,1-1/4X3/4"APLTN RB125-75 

120 101000 BUSHING,REDUCER,1-1/4X1",APLTN RB125-100 



4 of 22 
 Contract 18-017-11 

Group A: Electrical Supplies 

ITEM # MM # DESCRIPTION 

121 101002 BUSHING,REDUCER,1-1/2X3/4"APLTN RB150-75 

122 101003 BUSHING,REDUCER,1-1/2X1"APLTN RB150-100 

123 101004 BUSHING,REDU,1-1/2X1-1/4"APLTN RB150-125 

124 101006 BUSHING,REDUCER,2X1"APPLTN RB200-100,CMI 

125 101068 CAP,MALE PLUG,2 POLE,3 WIRE,HUBBLE#5266C 

126 101069 CAP,MALE PLUG,3 WIRE,HUBBELL #5965-VYNYL 

127 101073 CAP,MALE PLUG,2 POLE,3 WIRE,HUBBEL#5366C 

128 101076 CAP,MALE PLUG,2 POLE,3 WIRE,BRYANT#5466N 

129 101078 CAP,MALE PLUG,2 WIRE,POLARIZED,#5866VY 

130 101079 CAP,MALE PLUG,2 POLE,3 WIRE,LOCKING TYPE 

131 101293 CLAMP,BEAM,ELECTRICAL,APPLTN BH-500,1 IN 

132 101659 CONDUIT,RIGID,GALV,1/2"X 10' 

133 101660 CONDUIT,RIGID,GALV,3/4"X 10' 

134 101661 CONDUIT,RIGID,GALV,1"X 10' 

135 101662 CONDUIT,RIGID,GALV,1-1/4"X 10' 

136 101663 CONDUIT,RIGID,GALV,1-1/2"X 10' 

137 101664 CONDUIT,RIGID,GALV,2"X 10' 

138 101665 CONDUIT,RIGID,GALV,2-1/2"X 10' 

139 101669 CONDUIT,FLEX,GALV,1/2",LIQUIDTITE 

140 101670 CONDUIT,FLEX,ALUM,1/2 IN.,REDUCED WALL 

141 101671 CONDUIT,FLEX,GALV,3/4",LIQUIDTITE 

142 101672 CONDUIT,FLEX,GALV,1",LIQUIDTITE 

143 101673 CONDUIT,FLEX,GALV,1-1/4",LIQUIDTITE 

144 101677 CONDUIT,THINWALL,EMT STL,1/2"X 10' 

145 101678 CONDUIT,THINWALL,EMT STL,3/4"X 10' 

146 101680 CONNECTOR,CONDUIT,G.F.,3/8",PRESS-CAST 

147 101684 GRIP,CORD,ALUM,DB 9 PYLE,1/2",.375-.500 

148 101685 GRIP,CORD,ALUM,DB 934,1/2",.687-.750 

149 101687 CONNECTOR,CONDUIT,FLEX,1/2",STRGHT,SCREW 

150 101689 CONNECTOR,CONDUIT,92T050,1/2",2-PC,APLTN 

151 101690 CONNECTOR,CONDUIT,ST-50F,1/2"STL.,FEM. 

152 101691 CONNECTOR,CONDUIT,ST-50,1/2",STL 

153 101692 CONNECTOR,CONDUIT,STB-50,1/2",STL 

154 101693 CONNECTOR,CONDUIT,CG-3150,1/2",STT,APLTN 

155 101694 CONNECTOR,CONDUIT,CG-3750,1/2",STT,APLTN 

156 101695 CONNECTOR,CONDUIT,CG-5050,1/2",STT,APLTN 

157 101696 CONNECTOR,CONDUIT,ST-4550,1/2",45 DEG 

158 101698 CONNECTOR,CONDUIT,ST-9050,1/2",90 DEG 

159 101700 CONNECTOR,CONDUIT,CG90-3750,1/2",90 DEG 

160 101702 CONNECTOR,CONDUIT,NTC-50,1/2",NO THREAD 



5 of 22 
 Contract 18-017-11 

Group A: Electrical Supplies 

ITEM # MM # DESCRIPTION 

161 101703 CONNECTOR,CONDUIT,ST-75,3/4"STL 

162 101706 CONNECTOR,CONDUIT,ST-4575,3/4",45 DEG 

163 101708 CONNECTOR,CONDUIT,ST-9075,3/4",90 DEG 

164 101710 CONNECTOR,CONDUIT,CG-3775,3/4",STT,APLTN 

165 101712 CONNECTOR,CONDUIT,CG6275,3/4",APPLTN 

166 101713 CONNECTOR,CONDUIT,CG5075,3/4",APPLTN 

167 101714 CONNECTOR,CONDUIT,NTC-75,3/4",NO THREAD 

168 101715 CONNECTOR,CONDUIT,3/4",COMPRESSION 

169 101716 CONNECTOR,CONDUIT,ST-100,1",STL 

170 101718 CONNECTOR,CONDUIT,ST-45100,1",45 DEG 

171 101720 CONNECTOR,CONDUIT,1",90 DEG,W/LOCKNUT 

172 101722 CONNECTOR,CONDUIT,CG-37100,1",STT,APLTN 

173 101724 CONNECTOR,CONDUIT,NTC-100,1",NO THREAD 

174 101726 CONNECTOR,CONDUIT,CG-137125,1-1/4",STT 

175 101727 CONNECTOR,CONDUIT,ST-125,1-1/4",MI 

176 101729 CONNECTOR,CONDUIT,ST-90125,1-1/4",90 DEG 

177 101730 CONNECTOR,CONDUIT,NTC-125,1-1/4",NO TH 

178 101731 CONNECTOR,CONDUIT,ST-150,1-1/2",MI 

179 101732 CONNECTOR,CONDUIT,NTC-150,1-1/2",STT,M.I 

180 101736 CONNECTOR,CONDUIT,ST-200,2",MI 

181 101745 CONNECTOR,CONDUIT,1/2",COMPRESSION 

182 101878 COUPLING,CONDUIT,3PC,MI,EC-50,1/2",APLTN 

183 101879 COUPLING,1/2",NO THR,NTCC-50,APPLTN 

184 101882 COUPLING,CONDUIT,1/2",GALV,HOT DIPPED 

185 101884 COUPLING,CONDUIT,3PC,MI,3/4",EC-75,APLTN 

186 101887 COUPLING,NO THR,3/4",MI,NTCC-75 APPLTN 

187 101890 UNION,CONDUIT,UNF75NR,EXPL.PROOF,3/4" 

188 101892 COUPLING,CONDUIT,3/4",COMPRESSION 

189 101893 COUPLING,CONDUIT,3/4",GALV,HOT DIPPED 

190 101895 COUPLING,CONDUIT,3PC,MI,1",APPLTN #EC100 

191 101896 COUPLING,CONDUIT,NO THR,1",NTCC-100 

192 101897 COUPLING,CONDUIT,1",GALV,HOT DIPPED 

193 101898 COUPLING,CONDUIT,3PC,MI,1-1/4",EC-125 

194 101899 COUPLING,CONDUIT,NO THR,1-1/4",NTCC-125 

195 101900 COUPLING,TW,1/2",COMPRESSION 

196 101902 COUPLING,CONDUIT,NO THR,1-1/2",NTCC-150 

197 101903 COUPLING,CONDUIT,1-1/2",GALV,HOT DIPPED 

198 101904 COUPLING,CONDUIT,3PC,MI,1-1/2",EC-150 

199 101905 COUPLING,CONDUIT,3PC,MI,2",EC-200 APPLTN 

200 101914 COUPLING,CONDUIT,3",GALV,HOT DIPPED 



6 of 22 
 Contract 18-017-11 

Group A: Electrical Supplies 

ITEM # MM # DESCRIPTION 

201 101918 FITTING,CONDUIT,EXPAN.JOINT,3/4",XJ-75-8 

202 101925 ELBOW,PULLING,MI,90 DEG,1/2" 

203 101927 ELBOW,PULLING,MI,90 DEG,3/4" 

204 101936 ELBOW,1-1/2",90 DEG,GALV,HOT DIPPED 

205 101937 ELBOW,2",90 DEG,GALV,HOT DIPPED 

206 101952 RING,EXTNSN,OTLT BX,4SE-1/2 APLTN SQ 

207 101954 RING,EXTNSN,OTLT BX,4SSLE-1/2APLTN,HANDY 

208 101955 RING,EXTNSN,OTLT BX,40E-1/2 APLTN,OCTGN 

209 101958 RING,EXTNSN,OTLT BX,4SE-3/4 APLTN SQ 

210 101960 RING,EXTNSN,OTLT BX,4SES SPL APLTN SQ 

211 101975 CLAMP,GROUND,1/2"-3/4"-1",WEAVER TYPE J 

212 102273 GASKET,UNILET,3/4",FIBRE,2561 APPLTN, 

213 102277 GASKET,UNILET,1/2",GK50-N,NPRN,FORM 35 

214 102279 GASKET,UNILET,3/4",GK75-N,NPRN,FORM 35 

215 102280 GASKET,UNILET,1",GK100-N,NPRN,FORM 35 

216 102281 GASKET,UNILET,1-1/4,1-1/2",GK125-150-N 

217 102283 GASKET,UNILET,2",GK200-N APPLTN,NPRN 

218 102310 HANGER,CONDUIT,MINNIE,0B,1/2",W/NT&BLT 

219 102311 HANGER,CONDUIT,MINNIE,1B,3/4",W/NT&BLT 

220 102312 HANGER,CONDUIT,MINNIE,2B,1",W/NT&BLT 

221 102313 HANGER,CONDUIT,MINNIE,3B,1-1/4",W/NT&BLT 

222 102314 HANGER,CONDUIT,MINNIE,4B,1-1/2"W/NT&BLT 

223 102315 HANGER,CONDUIT,MINNIE,5B,2",W/NT&BLT 

224 102838 HUB,CONDUIT,ZINC,LIQUID TIGHT,1/2",ST-1 

225 102840 HUB,CONDUIT,ZINC,LIQUID TIGHT,3/4",ST-2 

226 102841 HUB,CONDUIT,ZINC,LIQUID TIGHT,1",ST-3 

227 102843 HUB,CONDUIT,ZINC,1-1/4",APPLTN-125 

228 102844 HUB,CONDUIT,ZINC,LIQUID TITE,1-1/4",ST-4 

229 102845 HUB,CONDUIT,ZINC,LIQUID TITE,1-1/2",ST-5 

230 102847 HUB,CONDUIT,ZINC,LIQUID TIGHT,2",ST-6 

231 103264 NIPPLE,CONDUIT,1/2",APPLETON #CN-50 

232 103265 NIPPLE,CONDUIT,1/2",OFFSET,CADMIUM 

233 103266 NIPPLE,CONDUIT,3/4",APPLETON #CN-75 

234 103267 NIPPLE,CONDUIT,3/4",OFFSET,CADMIUM 

235 103270 NIPPLE,CONDUIT,1",APPLETON #CN-100 

236 103273 NIPPLE,CONDUIT,1-1/4",APPLETON #CN-125 

237 103275 NIPPLE,CONDUIT,1-1/2",APPLETON #CN-150 

238 103276 NIPPLE,CONDUIT,2",APPLETON #CN-200 

239 103278 NIPPLE,CONDUIT,3",APPLETON #CN-300 

240 103280 NUT,UNISTRUT,1/4",WITH SPRING,#P1006 



7 of 22 
 Contract 18-017-11 

Group A: Electrical Supplies 

ITEM # MM # DESCRIPTION 

241 103281 NUT,UNISTRUT,3/8",WITH SPRING,P1008 

242 103282 NUT,UNISTRUT,1/2",WITH SPRING,#P1010 

243 103283 LOCKNUT,CONDUIT,1/2",STEEL,APPLETON BL50 

244 103284 LOCKNUT,CONDUIT,1/2",SEALING,MWC #SL-1 

245 103285 LOCKNUT,CONDUIT,3/4",STEEL,APPLETON BL75 

246 103286 LOCKNUT,CONDUIT,3/4",SEALING,MWC #SL-2 

247 103287 LOCKNUT,CONDUIT,1",STEEL,APPLETON #BL100 

248 103288 LOCKNUT,CONDUIT,1",SEALING,MWC #SL-3 

249 103289 LOCKNUT,CONDUIT,1-1/4",STEEL,APPLETON 

250 103290 LOCKNUT,CONDUIT,1-1/4",SEALING,MWC #SL-4 

251 103291 LOCKNUT,CONDUIT,1-1/2",STEEL 

252 103293 LOCKNUT,CONDUIT,2",STEEL 

253 103294 LOCKNUT,CONDUIT,2",SEALING,MWC #SL-6 

254 103296 LOCKNUT,CONDUIT,3",APPLETON #BL300 

255 103314 PLUG,U-LINE,APPLETON #ECP2023 

256 103318 PLUG,THREADED,UNILET,1/2",#PLG-50R 

257 103319 PLUG,THREADED,UNILET,3/4",#PLG-75R 

258 103320 PLUG,THREADED,UNILET,1",#PLG-100R 

259 103402 RECEPTACLE,DUPLEX,20 AMP,125VAC/125VDC 

260 104037 CONNECTOR,#12-10 WIRE,SELF INSULATED 

261 104038 CONNECTOR,#12-10 WIRE,5/16"BOLT,RING 

262 104104 CONNECTOR,WIRE/CABLE,2-WAY,T&B #54507 

263 104137 UNION,3/4",FEMALE,EXPLOSION PROOF 

264 104145 CHANNEL,UNISTRUT,12GA,1-5/8"X1-5/8"X10' 

265 104146 CHANNEL,UNISTRUT,SLOT,1-5/8"X1-5/8"X10' 

266 104147 CHANNEL,UNISTRUT,12GA,1-5/8"X7/8"X10' 

267 104148 CHANNEL,UNISTRUT,SLOT,1-5/8"X7/8"X10' 

268 104153 FITTING,ANGLE,90 DEG,UNISTRUT,2"X1-7/8" 

269 104154 BRACKET,UNISTRUT,TEE,4HOLE,5-3/8"X3-1/2" 

270 104155 FITTING,UNISTRUT,L-SHAPE,3-HOLE,3-1/2" 

271 104156 FITTING,UNISTRUT,FLAT,2-HOLE,3-1/2" 

272 104157 FITTING,UNISTRUT,FLAT,3-HOLE,5-3/8" 

273 104158 FITTING,UNISTRUT,L-SHAPE,4-1/8"X 3-1/2" 

274 104159 FITTING,UNISTRUT,90 DEG.,4-1/8"X 1-7/16" 

275 104160 FITTING,UNISTRUT,90 DEG.,3-1/2"X 2-1/4" 

276 104161 BRACKET,UNISTRUT,KNEE,45DEG,12X1-5/8X1/4 

277 104162 BRACKET,UNISTRUT,POST BASE,4HOLE,5X5X1/4 

278 104163 WASHER,REDUCING,CUPPED STEEL,3/4"-1/2" 

279 104164 WASHER,REDUCING,CUPPED STEEL,1"-1/2" 

280 104165 WASHER,REDUCING,CUPPED STEEL,1"-3/4" 



8 of 22 
 Contract 18-017-11 

Group A: Electrical Supplies 

ITEM # MM # DESCRIPTION 

281 104166 WASHER,REDUCING,CUPPED STEEL,1-1/4"-1/2" 

282 104167 WASHER,REDUCING,CUPPED STEEL,1-1/4"-3/4" 

283 104168 WASHER,REDUCING,CUPPED STEEL,1-1/4"-1" 

284 104171 WASHER,REDUCING,CUPPED STEEL,1-1/2"-1" 

285 104176 WASHER,REDUCING,CUPPED STEEL,2"-1-1/4" 

286 115879 COVER,GFI OUTLET,SINGLE,APPLTN#FSK-WGF-1 

287 115987 RING,PLASTER,4"SQ,SNGLE GANG,1/2"RAISED 

288 115988 RING,PLASTER,4"SQ.,TWO GANG,1/2"RAISED 

289 115989 BOX,SWITCH,GANGABLE,3"X 2"X 2-1/2" 

290 116239 LOCKOUT HASP,STEEL,RED VINYL,W/TABS 

291 116558 ELBOW,PULLING,WITH COVER,PVC COATED,3/4" 

292 118563 CLAMP,BEAM,MI,SUPPORT,3/8"DIA ROD 

 



9 of 22 
 Contract 18-017-11 

Group B: Wire 

ITEM # MM # DESCRIPTION 

1 101649 CABLE,THHN,1/0 AWG,1 COND,19 STR,BLACK 

2 101650 CABLE,THHN,2/0 AWG,1 COND,19 STR,BLACK 

3 101652 CABLE,THHN,4/0 AWG,1 COND,19 STR,BLACK 

4 101653 CABLE,WELDING,2 AWG,1 COND,STR,BLACK 

5 101654 CABLE,THHN,2 AWG,1 COND,19 STR,BLACK 

6 101655 CABLE,WELDING,4 AWG,1 COND,1050 STR,CPR 

7 104196 CABLE,SHIELDED,20AWG,2PR,4COND,#9402 

8 104204 WIRE,TYPE TFF,18 AWG,16 STR,1 COND,RED 

9 104208 WIRE,TYPE SO,16 AWG,16/3 SOW,3 COND 

10 104210 WIRE,TYPE SJO,16 AWG,STR,3 COND,BLACK 

11 104215 CABLE,SHIELDED,16 AWG,3 COND,BELDEN#8618 

12 104216 CABLE,SHIELDED,16 AWG,2 COND,BELDEN#8719 

13 104220 WIRE,TYPE SO,14 AWG,14 STR,4 CONDUCTOR 

14 104221 WIRE,TYPE THHN,14 AWG,19 STR,1 COND,BLK 

15 104225 WIRE,TYPE SJO,14 AWG,STRD,3 COND,BLACK 

16 104226 WIRE,TYPE SO,14 AWG,14/3 SOW,3 COND,BLK 

17 104228 WIRE,TYPE THHN,14 AWG,19 STR,1 COND,BLUE 

18 104229 WIRE,TYPE THHN,14 AWG,19 STR,1 COND,BRN 

19 104230 WIRE,TYPE THHN,14 AWG,19 STR,1 COND,GREE 

20 104232 WIRE,TYPE THHN,14 AWG,19 STR, 1 COND,ORA 

21 104233 WIRE,TYPE THHN,14 AWG,19 STR,1 COND,PURP 

22 104234 WIRE,TYPE THHN,14 AWG,19 STR,1 COND,RED 

23 104236 WIRE,TYPE THHN,14 AWG,19 STR,1 COND,WHIT 

24 104237 WIRE,TYPE THHN,14 AWG,19 STR,1 COND,YELL 

25 104239 WIRE,TYPE THHN,14 AWG,19 STR,1 COND,PINK 

26 104240 WIRE,TYPE SO,12 AWG,4 COND,600V,BLACK 

27 104241 WIRE,TYPE THHN,12 AWG,19 STR,1 COND,BLK 

28 104243 WIRE,TYPE SO,12 AWG,STR,3 COND,BLACK 

29 104246 WIRE,TYPE THHN,12 AWG,19 STR,1 COND,BLUE 

30 104247 WIRE,TYPE THHN,12 AWG,19 STR,1 COND,BRN 

31 104248 WIRE,TYPE THHN,12 AWG,19 STR,1 COND,GRN 

32 104249 WIRE,TYPE THHN,12 AWG,19 STR,1 COND,GREY 

33 104251 WIRE,TYPE THHN,12 AWG,19 STR,1 COND,ORNG 

34 104252 WIRE,TYPE THHN,12 AWG,19 STR,1 COND,PURP 

35 104253 WIRE,TYPE THHN,12 AWG,19 STR,1 COND,RED 

36 104254 WIRE,TYPE THHN,12 AWG,19 STR,1COND,WHITE 

37 104255 WIRE,TYPE THHN,12 AWG,19 STR, 1 COND,YEL 

38 104265 WIRE,TYPE SO,10 AWG,4 COND,600V,BLACK 

39 104266 WIRE,TYPE THHN,10 AWG,19 STR,1 COND,BLK 

40 104268 WIRE,TYPE SO,10 AWG,49 STR,3 COND,BLACK 



10 of 22 
 Contract 18-017-11 

Group B: Wire 

ITEM # MM # DESCRIPTION 

41 104269 WIRE,TYPE THHN,10 AWG,19 STR,1 COND,BLUE 

42 104270 WIRE,TYPE THHN,10 AWG,19 STR,1 COND,BRN 

43 104271 WIRE,TYPE THHN,10 AWG,19 STR,1 COND,GRN 

44 104274 WIRE,TYPE THHN,10 AWG,19 STR,1 COND,RED 

45 104276 WIRE,TYPE THHN,10 AWG,19 STR,1 COND,WHT 

46 104277 WIRE,TYPE THHN,10 AWG,19 STR, 1 COND,YEL 

47 104279 WIRE,TYPE THHN,8 AWG,19 STR,1 COND,BLACK 

48 104281 WIRE,TYPE THHN,8 AWG,19 STR,1 COND,GREEN 

49 104283 WIRE,TYPE THHN,8 AWG,19 STR,1 COND,WHITE 

50 104284 WIRE,TYPE SO,8 AWG,STR,4 COND,NEOPRENE 

51 104287 WIRE,TYPE THHN,6 AWG,19 STR,1 COND,BLACK 

52 104288 WIRE,TYPE THHN,6 AWG,19 STR,1 COND,WHITE 

53 104290 WIRE,TYPE THHN,4 AWG,19 STR,1 COND,BLACK 

54 114548 CABLE,DRAIN,COPPER,SHIELDED,22 AWG,300V 

55 115324 WIRE,TYPE THHN,10 AWG,19 STR,1 COND,ORNG 

56 116264 CABLE,TYPE XHHW,#1/0 KCMIL,600V,STRANDED 

57 116626 CABLE,FIBER OPTIC,JUMPER,5 METERS LONG 

 



11 of 22 
 Contract 18-017-11 

Group C: Wire Lugs & Connectors 

ITEM # MM # DESCRIPTION 

1 100697 HYDROMETER,BATTERY,10 PT.GRADUATION 

2 101034 END BARRIER,DIN RAIL,BLOCK,ALLEN BRADLEY 

3 101081 DESSICCANT,RUST INHIBITOR,ZERUST #VC2-1 

4 101291 CLEANER,ELECTRICAL,AEROSOL,6 OZ CAN 

5 101292 CLEANER,CONTACT,AEROSOL,16 OZ.CAN 

6 101297 CLIP,ALLIGATOR,#27 MUELLER,20A,BATTERY 

7 101298 CLIP,ALLIGATOR,#BU-24APN MUELLER,25 AMP 

8 101301 CLIP,ALLIGATOR,#21C MUELLER,100A,BATTERY 

9 101303 CLIP,ALLIGATOR,HIPPO-CLIP,BLACK,200A 

10 101304 CLIP,ALLIGATOR,HIPPO-CLIP,RED,200A 

11 101306 CLIP,ALLIGATOR,#60S MUELLER 

12 102815 SOCKET,LAMP,FLUORESCENT,LONG PROFILE 

13 102818 INSULATOR,ALLIGATOR CLIP,#23,BLACK 

14 102819 INSULATOR,ALLIGATOR CLIP,#23,RED 

15 102820 INSULATOR,ALLIGATOR CLIP,#26,BLACK 

16 102821 INSULATOR,ALLIGATOR CLIP,#26,RED 

17 102826 INSULATOR,ALLIGATOR CLIP,#62,BLACK 

18 103324 PULLER,FUSE,POCKET SIZE,IDEAL #34-002 

19 103387 ROD,GROUNDING,5/8"X 10',COPPERWELD 

20 103390 RACEWAY,WIRE CHANNEL,1-1/2"X 1-1/2"X 6' 

21 103392 COVER,WIRE RACEWAY,PVC,1-1/2"X6',PANDUIT 

22 103435 TAPE,REEL,FISH,200'X1/8"X1/16",IDEAL 

23 103690 SEALANT,DUXSEAL,1 LB.BAG,BLACKBURN #DX1 

24 103692 PENETRANT,5-WAY,AEROSOL,24 OZ CAN 

25 103700 SEALANT,COATING,SCOTCHKOTE,15 OZ.CAN 

26 103886 BAND,HEAT,PLUG-IN,TPT-12,120V,12 FT.,TPI 

27 103890 TAPE,ELECTRICAL,23 SCOTCH,HIGH-VOLTAGE 

28 103891 TAPE,ELECTRICAL,27 SCOTCH,GLASS CLOTH 

29 103892 TAPE,ELECTRICAL,3M SUPER 33+,BLACK,VINYL 

30 103893 TAPE,ELECTRICAL,70 SCOTCH,HIGH-VOLTAGE 

31 103894 TAPE,ELECTRICAL,3M SUPER 88,BLACK,VINYL 

32 103895 TAPE,ELECTRICAL,130 C SCOTCH,3/4"X30' 

33 103896 TAPE,ELECTRICAL,130 C SCOTCH,1"X30'X.03" 

34 103897 TAPE,ELECTRICAL,130 C SCOTCH,1-1/2"X30' 

35 103902 TAPE,ELECTRICAL,VARNISHED,3/4"X108' 

36 103903 TAPE,ELECTRICAL,SLIPKNOT FRICTION #8 

37 103905 PUTTY,INSULATION,DUCT SEALING,SCOTCHFIL 

38 103909 TAPE,ELECTRICAL,SCOTCH#35,BLUE,3/4"X66' 

39 103910 TAPE,ELECTRICAL,SCOTCH#35,BROWN,3/4"X66' 

40 103911 TAPE,ELECTRICAL,SCOTCH#35,GREEN,3/4"X66' 



12 of 22 
 Contract 18-017-11 

Group C: Wire Lugs & Connectors 

41 103912 TAPE,ELECTRICAL,SCOTCH#35,GRAY,3/4"X66' 

42 103913 TAPE,ELECTRICAL,SCOTCH#35,ORANGE,3/4"X66 

43 103914 TAPE,ELECTRICAL,SCOTCH#35,RED,3/4"X66' 

44 103915 TAPE,ELECTRICAL,SCOTCH#35,WHITE,3/4"X66' 

45 103916 TAPE,ELECTRICAL,SCOTCH#35,YELLOW,3/4"X66 

46 103917 TAPE,ELECTRICAL,SCOTCH#35,VIOLET,3/4"X66 

47 103941 LUG,CABLE,COPPER,SPLIT BOLT,500MCM,KS-34 

48 103945 LUG,CABLE,COPPER,8SOL/8STR,BURNDY #KS-15 

49 103946 LUG,CABLE,COPPER,6SOL/7STR,BURNDY #KS-17 

50 103947 LUG,CABLE,COPPER,4-8 STR,BURNDY #KS-20 

51 103948 LUG,CABLE,COPPER,2SOL/3STR,BURNDY #KS-22 

52 103949 LUG,CABLE,COPPER,1SOL/2STR,BURNDY #KS-23 

53 103950 LUGS,ONE-HOLE,BRASS,BURNDY#KPA25,SCRULUG 

54 103951 LUG,CABLE,COPPER,2SOL/1STR,BURNDY #KS-25 

55 103952 LUG,CABLE,COPPER,3SOL/2STR,BURNDY #KS-26 

56 103955 LUG,CABLE,COPPER,4SOL/4STR,BURNDY #KS-29 

57 103959 LUG,ONE-HOLE,COPPER,HYLUG,BURNDY #YA6C-L 

58 103960 LUG,ONE-HOLE,COPPER,HYLUG,BURNDY #YA-2CL 

59 103961 LUG,ONE-HOLE,COPPER,HYLUG,BURNDY #YA-4CL 

60 103963 LUG,ONE-HOLE,COPPER,HYLUG,BURNDY#YA4C-L3 

61 103970 LUG,COPPER,8 WIRE,BURNDY #YAV8C-L 

62 103980 LUG,ONE-HOLE,BRONZE,T&B #31005 

63 103981 LUG,ONE-HOLE,BRONZE,T&B #31007 

64 103982 LUG,ONE-HOLE,BRONZE,MECHANICAL,2/0 CABLE 

65 103985 LUG,ONE-HOLE,BRONZE,300/500MCM 

66 103991 LUG,COPPER,16-14 WIRE,BURNDY #SP-14 

67 103992 CONNECTOR,STAKON,VINYL,16-14 WIRE,FEMALE 

68 103993 CONNECTOR,STAKON,VINYL,#16-14 WIRE,MALE 

69 103994 TERMINAL,SLIDE,FEMALE,1/4",#10 WIRE 

70 103996 CONNECTOR,SOLDERLESS,VINYL,LOCKING FORK 

71 103999 CONNECTOR,STAKON,#16-10 WIRE,#10 BOLT 

72 104000 CONNECTOR,STAKON,#12-10 WIRE,#10 BOLT 

73 104001 CONNECTOR,STAKON,#16-10 WIRE,1/4"BOLT 

74 104002 CONNECTOR,STAKON,#16-10 WIRE,1/4"BOLT 

75 104004 CONNECTOR,STAKON,#8-10 WIRE,5/16"BOLT 

76 104005 CONNECTOR,STAKON,#12-10 WIRE,#10 BOLT 

77 104006 CONNECTOR,RING TONGUE,#12-10 WIRE 

78 104007 CONNECTOR,RING TONGUE,#12-10 WIRE 

79 104008 CONNECTOR,STAKON,#9-7 WIRE,5/16"BOLT 

80 104009 CONNECTOR,STAKON,#6-5 WIRE,1/4" BOLT 

81 104013 CONNECTOR,STAKON,2-WAY,T&B #2RC-10X 



13 of 22 
 Contract 18-017-11 

Group C: Wire Lugs & Connectors 

82 104014 CONNECTOR,STAKON,2-WAY,#12-10 WIRE,BUTT 

83 104015 CONNECTOR,STAKON,2-WAY,T&B #2RB-14X 

84 104016 CONNECTOR,STAKON,2-WAY,#22-18 WIRE 

85 104017 CONNECTOR,STAKON,#16-14 WIRE,T&B #2RB-14 

86 104018 CONNECTOR,STAKON,#22-18 WIRE,#6 BOLT 

87 104024 CONNECTOR,STAKON,#20-14 WIRE,#6 BOLT 

88 104025 CONNECTOR,STAKON,SOLDERLESS,SPADE TONGUE 

89 104026 CONNECTOR,STAKON,#20-14 WIRE,#8 BOLT 

90 104027 CONNECTOR,STAKON,#20-16 WIRE,#8 BOLT 

91 104028 CONNECTOR,STAKON,SOLDERLESS,FORK TONGUE 

92 104029 CONNECTOR,STAKON,#20-14 WIRE,#10 BOLT 

93 104030 CONNECTOR,STAKON,SOLDERLESS,FORK TONGUE 

94 104031 CONNECTOR,STAKON,#20-14 WIRE,1/4"BOLT 

95 104032 CONNECTOR,STAKON,#12-10 WIRE,#6 BOLT 

96 104033 CONNECTOR,STAKON,#10-12 WIRE,#6 BOLT 

97 104034 CONNECTOR,STAKON,#16-10 WIRE,#8 BOLT 

98 104035 CONNECTOR,STAKON,#16-10 WIRE,#8 BOLT 

99 104039 CONNECTOR,FORK TONGUE,STA-KON #RC10-10F 

100 104040 CONNECTOR,STAKON,90 DEG.FLAG,20 AWG.WIRE 

101 104041 CONNECTOR,STAKON,#12-10 AWG,WIRE,90 DEG. 

102 104042 CONNECTOR,STAKON,#22-18 WIRE,#6 BOLT 

103 104043 CONNECTOR,STAKON,VINYL,FORK,T&B #RA-1167 

104 104044 CONNECTOR,STAKON,#22-18 WIRE,#6 BOLT 

105 104046 CONNECTOR,STAKON,#22-18 WIRE,#10 BOLT 

106 104048 CONNECTOR,STAKON,#22-18 WIRE,#10 BOLT 

107 104053 CONNECTOR,STAKON,#12-10 WIRE,#6 BOLT 

108 104054 CONNECTOR,STAKON,#12-10 WIRE,5/16"BOLT 

109 104055 CONNECTOR,STAKON,#12-10 WIRE,#8 BOLT 

110 104056 CONNECTOR,STAKON,#12-10 WIRE,#10 BOLT 

111 104057 CONNECTOR,STAKON,NYLON,FORK,#12-10 WIRE 

112 104058 CONNECTOR,STAKON,NYLON,RING,#12-10 WIRE 

113 104065 CONNECTOR,STAKON,NYLON,RING,#16-14 WIRE 

114 104066 CONNECTOR,STAKON,NYLON,FORK,#16-14 WIRE 

115 104067 CONNECTOR,STAKON,NYLON,RING,#16-14 WIRE 

116 104071 LUG,ONE-HOLE,COPPER,8 AWG,35 AMP,#1/4 

117 104073 LUG,ONE-HOLE,COPPER,4 AWG,70 AMP,#3/8 

118 104078 LUG,ONE-HOLE,COPPER,SOLDERLESS,1/0,T&B 

119 104079 LUG,ONE-HOLE,COPPER,SOLDERLESS,#1,T&B 

120 104080 LUG,ONE-HOLE,COPPER,SOLDERLESS,#6,T&B 

121 104081 LUG,ONE-HOLE,COPPER,SOLDERLESS,#2,T&B 

122 104082 LUG,ONE-HOLE,COPPER,SOLDERLESS,3/0,T&B 



14 of 22 
 Contract 18-017-11 

Group C: Wire Lugs & Connectors 

123 104083 LUG,ONE-HOLE,COPPER,SOLDERLESS,4/0,T&B 

124 104084 LUG,ONE-HOLE,COPPER,SOLDERLESS,#4,T&B 

125 104085 LUG,ONE-HOLE,COPPER,TYPE YA,2/0,3/8"STUD 

126 104087 LUG,ONE-HOLE,COPPER,1/2"STUD,BURNDY#YA31 

127 104125 TUBING,HEAT SHRINK,#14 THRU #10 AWG,T&B 

128 104126 TUBING,HEAT SHRINK,#8 THRU #6 AWG,T&B 

129 104127 TUBING,HEAT SHRINK,#1 THRU 3/0 AWG,T&B 

130 104128 TUBING,HEAT SHRINK,2/0 AWG THRU 350 MCM 

131 104129 TUBING,HEAT SHRINK,250 THRU 500 MCM,T&B 

132 104130 TUBING,HEAT SHRINK,1/8",IDEAL #46-311 

133 104131 TUBING,HEAT SHRINK,3/16",4 FT LENGTH,BLK 

134 104133 TUBING,HEAT SHRINK,3/8",4FT LENGTH,BLACK 

135 104134 TUBING,HEAT SHRINK,1/2",IDEAL #46-323 

136 104135 TUBING,HEAT SHRINK,3/4",IDEAL #46-326 

137 104139 WIRE TIE,SELF-LOCKING,NYLON,3.5"L 

138 104140 WIRE TIE,SELF-LOCKING,NYLON,5.5"L 

139 104141 CABLE TIE,SELF-LOCKING,NYLON,7"L 

140 104142 CABLE TIE,SELF-LOCKING,NYLON,14"L 

141 104143 CABLE TIE,SELF-LOCKING,NYLON,HD,20"L 

142 104144 PAD,MOUNTING,ADHESIVE BACK,F/STD TY-RAP 

143 104179 NUT,WIRE,SCREW-ON,22-16 AWG,IDEAL #71B 

144 104180 NUT,WIRE,SCREW-ON,22-14 AWG,IDEAL #72B 

145 104181 NUT,WIRE,SCREW-ON,22-14 AWG,IDEAL #73B 

146 104182 NUT,WIRE,SCREW-ON,18-12 AWG,IDEAL #74B 

147 104183 NUT,WIRE,SCREW-ON,18-10 AWG,IDEAL #76B 

148 104184 NUT,WIRE,SCREW-ON,12-6 AWG,IDEAL #B4-1 

149 104262 WIRE,HOOK-UP,16 AWG,26X30 STRAND,RED 

150 104296 COMPOUND,WIRE PULL LUBE II,IDEAL #31-358 

151 114369 TERMINAL PROTECTOR,AEROSOL,7.5 OZ CAN 

152 114604 PLUG,CLAMPING RING,60A,4 WIRE,POWERTITE 

153 114776 COATING,ANTIOXIDANT,PENETROX #A13-8 

154 114777 COATING,ANTIOXIDANT,PENETROX  #E-8 

155 115166 EMITTER,H2S PROTECTIVE,CORTEC #VPCI-111 

156 115168 INHIBITOR/GALVANIC,AEROSOL,11 OZ.CAN 

157 115880 CONNECTOR,STAKON,#RB14-10F,#10 BOLT 

158 116189 FAN,AXIAL,MUFFIN,106CFM,115V,MODEL#4606X 

159 116205 CHART,RECORDING,SCALE 0 TO 100,BAILEY 

160 116210 CHART,RECORDING,SCALE BLANK,HONEYWELL 

161 116211 CHART,RECORDING,KAYE #M-0776 

162 116212 CHART,CIRCULAR,RANGE 0-100,24-HR 

163 116354 BLANKING PLATE,WIREMOLD WALKERDUCT,1043S 



15 of 22 
 Contract 18-017-11 

Group C: Wire Lugs & Connectors 

164 116355 INSERT,DUCT,WIREMOLD,WALKERDUCT #436-2-3 

165 116356 INSERT,DUCT,WALKERDUCT #436-2-23/8 

166 116495 CHART PAPER,CIRCULAR,24 HOUR,#CP-1764 

167 116496 CHART PAPER,CIRCULAR,24 HOUR,#CP-1765 

168 116575 JACK,LAN,CATEGORY 5E,RJ-45,COLOR:ALMOND 

169 116744 ADAPTER,WALKERDUCT,WIREMOLD #1126A-1 

170 116745 FACEPLATE,DUPLEX RECEPTACLE,WALKERDUCT 

171 116746 FACEPLATE,BLANK,WALKERDUCT,WIREMOLD#500B 

 



16 of 22 
 Contract 18-017-11 

Group D: Boxes, Breakers, and Fuses 

ITEM # MM # DESCRIPTION 

1 100672 HOLDER,FUSE,15A,250V,2P,2W,MAIN LINE 

2 100713 BODY,FEMALE CONNECTOR,5269N BRYANT,3W,2P 

3 100717 BODY,FEM.CONNECTOR,53CM69C HUBBELL,3W,2P 

4 100725 BOX,#A606CH,OIL TIGHT ENCL,6 X 6 X 4 IN. 

5 100727 BOX,PULL STEEL HINGE COVER,6"X 6"X 4" 

6 100729 BOX,JIC,NEMA 4, 6X6X4IN.,SS COVER CLAMPS 

7 100730 BOX,JIC,NEMA 4, 6X6X4IN,CONT.HINGE COVER 

8 100731 BOX,JUNCTION,STL,TYPE SC,6X6X4IN,NO KOS 

9 100734 BOX,JUNCTION,STEEL,SCREW COVER,6X6X6 IN. 

10 100735 BOX,JUNCTION,STEEL,SCREW COVER,8X6X4 IN. 

11 100738 BOX,JUNC.,STEEL,TYPE SC,10X8X4IN,NEMA 1 

12 100739 BOX,OIL TIGHT ENCL,#A1008CH,10X8X4 IN. 

13 100741 BOX,JIC,NEMA 4,10X8X4IN,SS HNGE COV.CLMP 

14 100742 BOX,PULL TYPE SCREW COVER,12X10X6 IN. 

15 100743 BOX,JUNC.,STEEL,TYPE SC,12X10X4IN,NEMA 1 

16 100745 BOX,JIC,NEMA 4,12X10X5IN,SS COVER CLAMPS 

17 100748 BOX,JUNC,NEMA4,14 GA.STL,12"X12"X6",CHC 

18 100749 BOX,PULL SCREW COVER,12X12X6IN, 

19 100750 BOX,JIC,NEMA 4,14X12X6IN,SS COVER CLAMPS 

20 100751 BOX,JIC,NEMA4,14X12X6IN,CONT.HINGE COVER 

21 100752 BOX,OIL TIGHT ENCL,14X12X6IN,#A1412CH 

22 100753 BOX,JUNC.,STEEL,HINGE-OILTITE,16"X14"X6" 

23 100769 BOX,1900,OUTLET,4 X 1-1/2 IN. 3/4 IN KO 

24 100774 BOX,OUTLET,OCTAGON,4"X1-1/2",1/2"-3/4"KO 

25 101024 CHANNEL,MOUNT,DIN RAIL,78-3/4" 

26 101027 BLOCK,TERMINAL,DIN RAIL,14AWG UNIVERSAL 

27 101029 BLOCK,TERMINAL,DIN RAIL,14AWG,END COVER 

28 101030 BLOCK TERMINAL,#22TO#8WIRE,TUBULAR SCREW 

29 101032 CHANNEL,MOUNT,DIN RAIL,F/CA&CE BLOCKS,3' 

30 101093 BREAKER,CIRCUIT,20A,120V,1-P,TYPE BAB 

31 101096 BREAKER,CIRCUIT,GROUND FAULT,20A,1-POLE 

32 101097 BREAKER,CIRCUIT,20A,120V,1-P,QOB FRAM 

33 101101 BREAKER,CIRCUIT,20A,120V,1-P,TYPE THQB 

34 101104 BREAKER,CIRCUIT,20A,120V,1-P,TYPE THQL 

35 101107 BREAKER,CIRCUIT,30A,120V,1-P,TYPE HACR 

36 101123 BREAKER,CIRCUIT,20A,120V,2-P,TYPE BAB 

37 101131 BREAKER,CIRCUIT,20A,120V,2-P,TYPE THQB 

38 101138 BREAKER,CIRCUIT,30A,120V,2-P,TYPE BAB 

39 101163 BREAKER,CIRCUIT,3A,600V,3-P,TYPE MCP 

40 101225 BREAKER,CIRCUIT,70A,600V,3-P,#HFD3070L 



17 of 22 
 Contract 18-017-11 

Group D: Boxes, Breakers, and Fuses 

ITEM # MM # DESCRIPTION 

41 101267 BREAKER,CIRCUIT,15A,600V,3-P 

42 101268 BREAKER,CIRCUIT,30A,600V,3-P 

43 101270 BREAKER,CIRCUIT,100A,600V,3-P 

44 101276 FUSE,LIMITER,CURRENT,30A,#EL3030R 

45 101638 HEATER,ELEC.,208/240V,QMARK #MUH072 

46 101639 HEATER,ELEC,7KW,480V,Q MARK #MUH-07-4 

47 101640 BRACKET,MOUNTING,WALL,MUH HEATER 

48 101641 HEATER,ELEC.,2000W,120V,3 HEAT SWITCH 

49 101797 CONTACTOR,LIGHTING, 30A, 120V, 8 NO 

50 101799 CONTACTOR,AB #500L-BAD94,TYPE1,4-P,60CY 

51 101803 CONTROLLER,LIQUID LEVEL,FLYGT #ENM-10 

52 101805 SWITCH,FLOAT,HEAVY DUTY,DAYTON #6PNV6 

53 101806 SWITCH,TYPE AG-1 DP-ST,SQUARE D #9038 

54 101870 CONTROL,THERMOSTAT,SPDT,AUTORESET,34-60F 

55 101874 CONTROL,THRMSTT,40-80F,SPST,CHRMLX WR-80 

56 101875 CONTROL,THRMSTT,50-80F,SPST,HNYWL#T6051A 

57 101877 CONTROL,THRMSTT,15-55F,SPST,PENN#A70GA-1 

58 102024 FUSE,KTK,1/4A,600V,ONE-TIME,LIMITRON 

59 102025 FUSE,AGC,1/2A,250V,GLASS,FAST ACTING 

60 102027 FUSE,FNM,1/2A,250V,ONE TIME 

61 102039 FUSE,FRN-R,8/10A,250V,CLASS RK-5,DUAL 

62 102040 FUSE,AGC,1AMP,250V,ONE TIME 

63 102041 FUSE,NON,1 AMP,250V,ONE TIME 

64 102042 FUSE,FNM,1 AMP,250V,ONE TIME 

65 102043 FUSE,BAF,1 AMP,250V,ONE TIME 

66 102044 FUSE,FRN-R,1 AMP,250V,ONE TIME 

67 102046 FUSE,FNQ-R,1A,REJECTION,TIME DELAY,CC 

68 102048 FUSE,KLDR-1,CLASS CC,1A,600V,TIME-DELAY 

69 102050 FUSE,KTK-R-1,1A,600V,CLASS CC,BUSSMAN 

70 102055 FUSE,FNM,1-1/4A,250V,TIME DELAY 

71 102056 FUSE,KTK-R-1,1-1/2A,600V,BUSS,FAST ACTIN 

72 102059 FUSE,FNQ-R,1.6A,REJECTION,TIME DELAY,CC 

73 102063 FUSE,AGC,2A,250V,GLASS,FAST ACTING 

74 102066 FUSE,FNM,2A,250V,ONE TIME 

75 102067 FUSE,KLKR,2A,600V,CLASS CC,FAST ACTING 

76 102072 FUSE,FNQ-R,2A,REJECTION,TIME DELAY,CC 

77 102076 FUSE,FRN-R,2-1/2A,250V,ONE TIME 

78 102080 FUSE,FNM,2-1/2A,250V,DUAL ELEMENT,BUSS 

79 102082 FUSE,KTK-R,2-1/2A,600V,ONE TIME,BUSSMAN 

80 102087 FUSE,FNQ-R,3A,REJECTION,TIME DELAY,CC 



18 of 22 
 Contract 18-017-11 

Group D: Boxes, Breakers, and Fuses 

ITEM # MM # DESCRIPTION 

81 102089 FUSE,FRN-R,3A,250V,CARTRIDGE,ONE TIME 

82 102093 FUSE,KTK-R,3A,BUSS,ONE TIME,13/32" 

83 102094 FUSE,FNQ-R,3A,600V,MDGT,TIME DELAY,200KA 

84 102104 FUSE,KTK-R,4A,600V,ONE TIME,3/32" 

85 102108 FUSE,AGC,5A,250V,GLASS,1/4",FAST ACTING 

86 102109 FUSE,FNM,5A,250V,DUAL,FIBRE TUBE,13/32 

87 102112 FUSE,GLR,5A,300V,GLASS,BUSS,ONE TIME 

88 102113 FUSE,FNQ-R,5A,REJECTION,TIME DELAY,CC 

89 102116 FUSE,KTK-R,5A,600V,ONE TIME,13/32" 

90 102123 FUSE,NON-R,6A,250V,CARTRIDGE,ONE TIME 

91 102127 FUSE,KTK-R,6A,600V,ONE TIME 

92 102137 FUSE,FNQ-R,10A,REJECTION,TIME DELAY,CC 

93 102138 FUSE,AGC,10A,32V,GLASS,FAST ACTING,1/4" 

94 102142 FUSE,FLSR,10 AMP,600 V,DUAL,TIME DELAY 

95 102143 FUSE,KTK-R,10A,600V,LIMITRON BUSS,13/32" 

96 102144 FUSE,FRN-R,10A,250V,CRTRDG,DUAL,ONE TIME 

97 102145 FUSE,FNM,10A,250V,BUSS,FIBRE,13/32" 

98 102152 FUSE,FRN-R,15A,250V,CRTRDG,DUAL,1-TIME 

99 102153 FUSE,AGC,15A,32V,GLASS,FAST ACTING,1/4" 

100 102162 FUSE,FLSR,15A,600V,DUAL,TIME DELAY,RK-5 

101 102166 FUSE,FRN-R,20A,250V,CRTRDG,DUAL,TM DELAY 

102 102167 FUSE,FRN-R,20A,250V,CRTRDG,DUAL,1-TIME 

103 102169 FUSE,AGC,20A,32V,GLASS,FAST ACTING,1/4" 

104 102170 FUSE,FLSR,20A,600V,DUAL,TIME DELAY,RK-5 

105 102174 FUSE,FNQ-R,20A,REJECTION,TIME DELAY,CC 

106 102176 FUSE,AGC,25A,32V,GLASS,FAST ACTING,1/4" 

107 102177 FUSE,FRN-R,25A,250V,CRTRDG,DUAL,1-TIME 

108 102181 FUSE,FRN-R,30A,250V,CRTRDG,DUAL,1-TIME 

109 102187 FUSE,FRS-R,30A,600V,REJECTION,TIME-DELAY 

110 102188 FUSE,FLSR,30A,600V,DUAL,TM DELAY,RK-5 

111 102194 FUSE,FRS-R,35A,600V,CRTRDG,DUAL,TM DELAY 

112 102200 FUSE,FLSR,40A,600V,DUAL,TM DELAY,RK-5 

113 102206 FUSE,FLNR,60A,250V,DUAL,TIME DELAY,RK-5 

114 102210 FUSE,FLSR,60A,600V,DUAL,TM DELAY,RK-5 

115 102266 FUSE,PLUG,15 AMPS,125V,BUSS TL-15,WINDOW 

116 102368 HEATER,OVERLOAD,CR123-C.5.92A 

117 102429 HEATER,OVERLOAD,CR123-H 3.46A G.E. 

118 102433 HEATER,OVERLOAD,CR123-H 4.86A G.E. 

119 102435 HEATER,OVERLOAD,CR123-H 5.75A G.E. 

120 102437 HEATER,OVERLOAD,CR123-H 6.80A G.E. 



19 of 22 
 Contract 18-017-11 

Group D: Boxes, Breakers, and Fuses 

ITEM # MM # DESCRIPTION 

121 102438 HEATER,OVERLOAD,CR123-H 7.39A G.E. 

122 102617 HEATER,OVERLOAD,FH21 

123 102622 HEATER,OVERLOAD,FH25 WESTINGHOUSE 

124 102623 HEATER,OVERLOAD,FH-26 WESTINGHOUSE 

125 102625 HEATER,OVERLOAD,WESTINGHOUSE #FH28 

126 102628 HEATER,OVERLOAD,FH42 WESTINGHOUSE 

127 102637 HEATER,OVERLOAD,FH37,WESTINGHOUSE 

128 102792 BOX,PORTABLE GFCI,QUAD,W/CORD,20A,125VAC 

129 102833 HOLDER,FUSE,IN-LINE BUSS TYPE HRF 

130 103128 MOTOR,ELECTRIC,1/3 HP,1725 RPM,56 FRAME 

131 103155 TRANSFORMER,50VA,240/480V 

132 103156 TRANSFORMER,75VA,FUSED,PRIMARY 240/480V. 

133 103157 TRANSFORMER,50VA,FUSED,PRIMARY 240/480V. 

134 103159 TRANSFORMER,100VA,PRIMARY 230/460V. 

135 103218 TRANSFORMER,CONTROL,150 VA. 

136 103230 TRANSFORMER,30 KVA.,TYPE QL 

137 103235 MARKER,WIRE,PORTAPACK,BRADY #PWM-PK-1 

138 103237 MARKER,WIRE,PORTAPACK,BRADY #PWM-PK-3 

139 103238 MARKER,WIRE,PORTAPACK,BRADY #PWM-PK-12 

140 103239 MARKER,WIRE,PORTAPACK,BRADY #PWM-PK-13 

141 103240 MARKER,WIRE,LEGEND 46-90,PANDUIT#PCMB-14 

142 103260 TIMER,ELECTRICAL,24 HOUR,125V.,30 AMP. 

143 103317 PLUG,GROUNDED,60 AMP.,600VAC/250VDC 

144 103322 POWER STRIP,SURGE PROTECTOR,7 OUTLET 

145 103330 STATION,PUSHBUTTON,2 UNIT,"START/STOP" 

146 103335 STATION,PUSHBUTTON,"OPEN/CLOSE/STOP" 

147 103336 STATION,PUSHBUTTON,"OPEN/CLOSE/STOP" 

148 103337 STATION,PUSHBUTTON,"FORWARD/REVERSE/STOP 

149 103338 PUSHBUTTON,BLACK,NO NAMEPLATE,#800T-A2B 

150 103340 PUSHBUTTON,RED,NO NAMEPLATE,#800T-A6B 

151 103341 PUSHBUTTON,BLACK,EXTENDED EAD, MOMENTARY 

152 103360 PLUG,"KNOCKOUT",F/UNUSED PUSHBUTTON HOLE 

153 103464 RELAY,4 NO,CONV. TO NC,10 AMP,600V 

154 103498 RELAY,DPDT,WITH INDICATOR LAMP,10 AMP 

155 103500 RELAY,DPDT,10 AMP.,250V.,CONTACTS 

156 103504 RELAY,SQUARE D CLASS 8501,4 CONTACT 

157 103540 RELAY,OVERLOAD,SIZE 1,WESTINGHOUSE#BA13A 

158 103556 RELAY,PLUG-IN,8-PIN,DPDT,10 AMP.,120V. 

159 103616 RELAY,SOCKET,8-PIN OCTAL,P&B #27E891 

160 103617 RELAY,SOCKET,11-PIN OCTAL,P&B #27E892 



20 of 22 
 Contract 18-017-11 

Group D: Boxes, Breakers, and Fuses 

ITEM # MM # DESCRIPTION 

161 103638 STARTER,MOTOR,MANUAL,2-POLE,#CR101H11 

162 103639 STARTER,MOTOR,MANUAL,OPEN,1 HP,2 POLE 

163 103642 STARTER,MOTOR,MANUAL,OPEN,1 HP,1 POLE 

164 103643 STARTER,MOTOR,MANUAL,TYPE 1,1 HP,1 POLE 

165 103644 STARTER,MOTOR,MANUAL,1-POLE,#CR101Y11 

166 103649 STARTER,MOTOR,MAGNETIC,SIZE 1,3 HP 

167 103677 STARTER,MOTOR,MAGNETIC,SIZE 1,NEMA 4 

168 103686 STARTER,MOTOR,SIZE 3,OPEN,NON-REVERSING 

169 103693 SEALANT,ELECTRICAL,RED,AEROSOL,15 OZ.CAN 

170 103701 SEALANT,RUBBER ADHESIVE,GE#RTV108,2.8 OZ 

171 103713 SPLICING KIT,CONTACTOR,SCOTCHCAST #82-A1 

172 103714 SPLICING KIT,CONTACTOR,SCOTCHCAST #82-A2 

173 103716 SPLICING KIT,CONTACTOR,SCOTCHCAST #82-B1 

174 103727 SWITCH,PROXIMITY,HONEYWELL #LSK8A-8C 

175 103765 SWITCH,SAFETY,30 AMP.,2-POLE,FUSIBLE 

176 103769 SWITCH,SAFETY,30 AMP,3-POLE,FUSIBLE 

177 103770 SWITCH,SAFETY,30 AMP.,3-POLE,FUSIBLE 

178 103771 SWITCH,SAFETY,DISCONNECT,30A,600V,3P,NF 

179 103773 SWITCH,SAFETY,60 AMP,3-POLE,FUSIBLE 

180 103774 SWITCH,SAFETY,60 AMP.,3-POLE,FUSIBLE 

181 103779 SWITCH,BAT HANDLE TYPE,SELECTA #SS206S 

182 103780 SWITCH,TOGGLE,BAT HANDLE,DOUBLE POLE 

183 103782 SWITCH,TOGGLE,BAT HANDLE TYPE,10 AMP., 

184 103784 SWITCH,TOGGLE,3-WAY,15 AMP.,120/277VAC 

185 103788 SWITCH,TOGGLE,4-WAY,15 AMP.,120/277V. 

186 103789 SWITCH,TOGGLE,PILOT,20 AMP.,120V. 

187 103790 SWITCH,TOGGLE,20 AMP,SIDE&BACK WIRED 

188 103791 SWITCH,TOGGLE,20 AMP,SIDE & BACK WIRED 

189 103793 SWITCH,TOGGLE,3-WAY,20 AMP,120/277V 

190 103796 SWITCH,TOGGLE,BAT HANDLE TYPE,CENTER OFF 

191 103797 SWITCH,TOGGLE,BAT HANDLE TYPE,MOMENTARY 

192 103798 SWITCH,SELECTOR,2-POSITION,#800T-H2B 

193 103799 SWITCH,SELECTOR,2-POSITION,CYLINDER LOCK 

194 103802 SWITCH,SELECTOR,3-POSITION,MAINTAINED 

195 103818 SWITCH,PRESSURE,MERCOID #DA-31-127-4 

196 103837 SWITCH,SAFETY,60 AMP,600V,3-POLE 

197 103864 SWITCH,MOTOR STARTER,20/30 AMP,240/600V 

198 103882 SWITCH,TOGGLE,20 AMP.,120V.,2-POLE 

199 104117 THERMOSTAT,860-2 MERCOID,RANGE 56/80 DEG 

200 104122 THERMOSTAT,FREEZE-STAT,ROBERTSHAW#TC5241 



21 of 22 
 Contract 18-017-11 

Group D: Boxes, Breakers, and Fuses 

ITEM # MM # DESCRIPTION 

201 112477 CLOCK,WALL,ELECTRIC,12 IN.,115V,BROWN 

202 112478 CLOCK,WALL,BATTERY,12",BROWN OR BLACK 

203 114764 FUSE,FNQ-R,30A,REJECTION,TIME DELAY,CC 

204 114765 FUSE,FNQ-R,15A,REJECTION,TIME DELAY,CC 

205 114924 CORD,PORTABLE GFCI,3-15A PLUGS,120VAC 

206 114975 CONTACTOR,MAGNETIC,40 AMP,24V,3 POLE 

207 115124 PROBE,5'LENGTH,316 SS,WARRICK #3R5C4 

208 115192 FORMAZIN CALIBRATION SOLUTION,4000 NTU 

209 115845 POWER SUPPLY,(UPS),1000VA,120V,LIEBERT 

210 115991 HOUSING,CONNECTOR,DUPLEX,QUICKPORT 

211 116054 BRUSH,ELECTRO GRAPHITE,1-3/4"X 5/8"X 3" 

212 116058 MONITOR,IQ NALYZER,CUTLERHAMMER#IQA6630 

213 116085 MOTOR,1/3 HP,1725 RPM,56 FRAME,230/460V 

214 116184 FUSE,GBB,12A,250V,VERY FAST ACTING 

215 116188 BRUSH,METAL GRAPHITE,1-1/4"X3/4"X 1-3/4" 

216 116192 HEATER,5KW,240V,DAYTON #2YU62 

217 116255 BRUSH,CARBON,NATIONAL #36A164451ABP05 

218 116258 THERMOSTAT-LINE VOLTAGE,-30 TO 90 DEG.F. 

219 116284 DEHUMIDIFIER,HEAVY-DUTY,120V,MIN.56 PPD 

220 116294 DEHUMIDIFIER,FROST FREE,PORTABLE 

221 116516 SMOKE HEAD,FIRE ALARM,PYROTRONICS #FP-11 

222 116554 MODULE,CONVERTER,TEMPERATURE TO DC 

223 116564 THERMOSTAT,HEATER,7.5KW,24-277 AC 

224 116964 TESTER,VOLTAGE,FLUKE-T+PRO 

225 117356 RECORDER PEN,PURPLE,POSITION #1 

226 117615 FILTER,WATER STOP,FOR 1 FT PROBE,#801582 

227 117616 FILTER,DUST,5X,MSA #808935 

228 117617 SAMPLE HOSE,W/QUICK DISCONNECT,#10040664 

229 117618 FILTER,PROBE,HYDROPHOBIC,MSA #710917 

230 117619 PROBE,SAMPLING,1 FT,MSA #10042621 

231 117620 KIT,MAINTENANCE,F/ALTAIR 5X,MSA#10114949 

232 118139 FILTER REPLACEMENT,4",HOFFMAN #A-FLTR4 

233 118330 STARTER,MOTOR,COMBO,SIZE 1,7.5 HP,27 AMP 

234 118505 SWITCH,SAFETY STOP,EXPL.PROOF,20A,2 SPDT 

235 118553 MODULE,CONVERTER,ALLIED #AT-MC101XL 

236 118556 POWER SUPPLY,1000VA,LIEBERT #GXT4-1000RT 

 



22 of 22 
 Contract 18-017-11 

Group E: Ballasts & Fixtures 

ITEM # MM # DESCRIPTION 

1 100627 BALLAST,FLUOR,3-LAMP,T-8,120V 

2 100643 BALLAST KIT,HPS,250W,120-277V,S50 

3 100644 BALLAST KIT,HPS,400W,120-277V,S51 

4 100645 BALLAST KIT,HPS,1000W,#RBKC10HPMTB 

5 100647 BALLAST KIT,HPS,150W,120-277V,S55 

6 100649 BALLAST KIT,HPS,70 W,120-277V 

7 100650 BALLAST KIT,HPS,50W,120V,S68 

8 100651 BALLAST KIT,HPS,70W,120-277V 

9 100652 BALLAST KIT,HPS,100W,120-277V 

10 100660 IGNITOR,LAMP,HPS,35-150 W 

11 101987 HOOD,CEILING MNT,3-HUB,3/4",VX-75 APLTN 

12 101994 FIXTURE,HPS,WALL,70W,#W4070HP12SGF1 

13 102002 FIXTURE,FLOURSCENT,2-LAMP,32W,#AF232 

14 102010 FIXTURE,VAPORTIGHT,100W,APPLETON #VU-100 

15 102012 EXTENSION SHOP LIGHT,W/RECEPTACLE 

16 102013 EXTENSION SHOP LIGHT,W/O CORD 

17 102809 ADAPTER,SOCKET,MOGUL TO MEDIUM BASE,600W 

18 112500 FLASHLIGHT,INDUSTRIAL,2D,WITH MAGNET 

19 112501 FLASHLIGHT,2 CELL,PLASTIC,EVEREADY #1251 

20 114705 BALLAST KIT,MET HAL,150W,120-277V,MED 

21 114706 BALLAST KIT,MET HAL,175W,120-277V,MED 

22 114707 BALLAST KIT,MET HAL,400W,120-277V 

23 114708 BALLAST KIT,MET HAL,100W,120-277V,MED 

24 114714 BALLAST KIT,MET HAL,70W,120-277V,MED 

25 114715 BALLAST KIT,MET HAL,250W,120-277V,MOG 

26 115169 ABSORBER,H2S,CORTEC CORRSORBER 

27 115992 EXTENSION,LAMPHOLDER,PORCELAIN 

28 116505 FIXTURE,LAMP,FLUORESCENT,4-LAMP,40W,#2GR 

29 116971 BALLAST KIT,METAL HAL,400W,208-277V 

30 116974 BALLAST,FLUOR,1-2 LAMP,T8,120-277V 

 


